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Answer the following questions

1- Suppose there are 5 black, 10 white, and 15 red marbles in an urn. You reach
in and randomly select six marbles without replacement. What is the probability
that you pick exactly two red marbles? Find E(X) and var(X)

n=6,N =30, k = 15, therefore P(X =2) = [ °C, | [ *°*C4] / [*°Cs ]

K, _ 36
)29

E(X) = n (k/N) = 6(15/30) = 3, and V(X) =

Nl

2- Two fair dice are rolled, what is the probability that the first turns up six,
given that the sumisk, for each k from two through 127?

A={ firstturnsup six }={ (6, 1), (6, 2), (6, 3), (6, 4), (6, 5), (6, 6)}

B = { the sumisk, for each k from two through 12}, therefore P(A/B) = O for
k=23,...,6.

Atk=7,B={ (16), (25), (34), (4.3), (5.2), (6,1)}, thus P(A/B) = 1/6
k=8,B={(26), (35), (44), (53), (6,2) }, thus P(A/B) = 1/5
k=9,B={(36), (45), (54), (63)}, thus P(A/B) = ¥4

k=10,B={ (46), (55), (64)}, thus P(A/B) = 1/3

k=11,B={ (56), (65)}, thus P(A/B) = ¥

k =12, B ={(6,6)}, thus P(A/B) = 1




a-bx? 0O<x<1

3- The density function of X is given by f(x) = iy
0 otherwise

If E(X) =3/5, find aand b.

1 2 4
Since Ix(a- bx?)dx = 0.6, therefore [aX7 — bxj]z =0.6, thus2a- b =24, but
0

1 3
j(a- bx?)dx =1, therefore [ax — b%](l) =1,thus3a-b=3,s0a=0.6and b=-1.2
0

Good Luck
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